| *FfP  #E(B)
-00-MB

'Ji.&g P FRRS(E) TS > AV PR

102 8 & B L ictew £ 48 8 L E - &4
’o- 0>~ B P % F i A

£ AL
#5(B)

[ & % %]

Lty @ g T EEDHLEAF -
2B E R () BmE a%ﬁsﬁfﬁ%i@iﬁwk’%ﬁﬂ

BoERAR &M AL -

3AGEE L 54T FALAA 0 £ 1004 0 FHEAS  FHT e - #3
Bic—- st 3 3L [ll'r'ﬂg'y] o

4435305 0 - R FALFG (A) (B)(C) (D) = BEH -
”—@&iéé*’u€4*k—%%%@*ﬁw’%28%%@%
R, e A A R o

5.7 MBcE: 5 andip > MR E R 8o

6.2 L5 0 AATd » TRE T o

THEREE R T AT HEEBI S RN o p e E Y s TR

3 7L ¥
BT g RH (%), 2 L, - Asw o
B
TR (B ER o FAE R AL EYE LR EEA TR

$1F 2 4F



LRfP F(B)

10.

11.

12.

S+

KIEZHIUB R map a2k 2
(A) 337 (B) 357 (C) 377 (D) 397

. BRI 2 Tk Hp#e e nl3E T ~ LES Tk 1 For =M - HE3ETT
I H 25 > LESTITR A 55k » 1oy aA 305& > Al 1R saiteny i (8
B%/VTt?

(A) 82 (B) 82.5 (C) 83 (D) 83.5
—L N — l . % ’ Ao
Efia= 2 - b= \fz 45 > HIFHIR T E 2
(A) a-b<2 (B) a+b<2 (C) a<b (D) b®<a?
100 100 100 a b
CAID 8, =205 ~ D b =26 > KD (L -5+ M-
k=1 k=1 k=1
(A) 29 (B) 68 (C) 80 (D) 128
GRS 4 10 0 ..., 10 . . “op b (51 O
E%D%E‘é%tbﬁﬁilo+1_om+ Lo0T2 + +1.001” +- ZHR P TP 2B Rfr]
(A) 10000 (B) 10010 (C) 10100 (D) 11000
WraEmABeE > AEA = HARMES THHZ 2 ) SBEHESEE - 1 "HHH

Zr ) SR 10 LS RHEPEM T - FafdE A —thdtE > HiEfeE—E R
M - EH = 2FEES "THHZE ) BENERE - AZVEAENSEEE ?

(A) 30 (B) 66 (C) 120 (D) 3w
. 4HEEER B 40 ~ 45~ 50 ~ 55~ 60 ~ 65 ~ 70 ~ 75 A NAIfAE A E 2
(A) {78k 60 (B) FE—VUsrfir % Q, £y 45
(C) B =U 7 fir ¥ Q, /5 65 (D) PU4firzE Q, —Q, £ 20
e = 21 Y e (a,b) - ka-b 2 -
(A) -2 (B) -1 (€0 D)1
TSR FEBRG By (2, -5) » BEITIEX By =-1 > KILMYRNEEZE -
(A) 4 (B) 8 (C) 12 (D) 16
EEERTRERR (-2,1) ~ (4,1) HE#ER 10 - SKEJTTRER -
(x=1)° (y=-1)° _ (x=2°*  (y-9° _
(A) et =1 (B) o=l
(x=1° (y+1)* _ (x=0*  (y-9° _
©) g+ g =1 O g+ =t

CAIE AR PRI RS A(-4,-1) ~ B(-5,4) » H.C B4REL AB FHJRE - 750 RyJ5%E > HI

THIA AR By OC WY E LR HFE= 2
(A) y=—-2x (B) Y =X (C) y=0.2x (D) Y =X

M E AR EA =8 AB,) » B(6,-2) « C(-7,3) » K% AFIE 4 BC HIRHE#E -
(A)1 (B) 2 (€)3 (D) 4

4F 2%



£E#E #HEB)

13. BAIVE ERE%AGG .S B  CGELS) D)~ (250

1374
E R EMN 4B+ BC+CD+DE =(m.,n) > Km—-n {4 -
(A) -3 B) -1 O)1 (D)3

14. EAIPE LIS Aos 22X sin %) + BleosZ,sin ) » KL 4B 2 -

@1 B) 11 © 2 ® 3
x=0
15 ZHR] 770 WA R S, y)=x+ 3y HIRALE -
x+y<3
2x+y<4
(A)0 (B)7 (€)9 (D) 12
16. Ex* +x -2 BZIER Y +ax’ +3x+b+1ER(H e ~ b B EBEER) > Blla—b 7 {H BT ?
(A) 17 (B)3 () -4 (D) —15
1 2 3
17. KZRFGE| -1 -6 x|=0HYRES -
1 x 4
@) {1,2} ®) {-1,2} ©) {1,-2} D) {-1,-2}
18. #log,,2=x ~ log,,3=y » Rlllog,,15ZF R TFIH—= ?
5 x+y-1 x—y+1 y+1l-x
(&) 4 (B) x+2y © 2x+y (D) 2x+y
19. EH1AABC th » smA:sinB:sinC=5:7:8 » 3k cos4 718 -
11 5 9 4
A1 ®) = © 7 D) =

20. EAIAABC REF=FER » LB RESs » BiD ~ E5YAUEMRELAC ~ AB | < # DE - 4B
EAEH » B AD=A4B=1> 4B=BC » 1 (—) » B FSURCRITE B ?

(A) BC =cot 4 A
B) DE =tan 4
©) AE =sinC
D) AC =secC
E
D |
g(—) © B
2. EFlx ~ y ~ zRIEER - Bx ~ vy~ 2B 2x+3y+z=12 » BINFIEFR/RE ?
(A) 0z By AE R 12 (B) x*y’z YR KB #y 32
(C) xz” YR KB Fy 48 (D) xy*z YR AME B 18

%37 #*47



kP #5(B)

22. 3 f(X) ~ g(X) B x 2 ZIER - E g(X) Rl 2x 3R 1 - H f(X)=g(X)(2x—-3)+5 >
FIT(f (x))? BREA (2x—3)* 18R Ry fe] 2
(A)5 (B) 20x-5 (C) 10x-15 (D) 25

23. EAIACEE B'C » B5A" « BSYHIEAC « B'C > AB=AB' =13 » {IE () -
# /B'A'C=2/BAC - H AABC fyHEifE 539 » HIAA'B'C HYEfE By fa 2

(A) 48 B
(B) 42
(C) 36
(D) 30
B
-
- C
(=) A A
24, EUIZTER T () =(* —x+1)> -1 - ymwzﬁ .
(A) -3 (B) -2 (C)2 (D)3
25. % f(x)=x>=3x* +2x+4 > A FHIH—{E 52 Ay f(x) BEEAII4 2=t 2
(A) x+y+5=0 (B) x+y+3=0 (C) x+y=5 (D) x+y=8
[P 2EH ]





